

Bliss Products and Services, Inc 6831 S. Sweetwater Rd. Lithia Springs, GA 30122 (800) 248-2547 (770) 920-1915 Fax Quote # **72984** 

Sales Rep: Heather Smith heather.smith@blissproducts.com

C: (727) 403-7849

**City of Clearwater** 

**Date** 09-13-2024

**Project** Concrete and BayCare BallPark Amenities

October 2024

Bill To

City of Clearwater 100 S. Myrtle St., 1st. Floor Clearwater, Florida 33756 T: (727) 462-6563 **Ship To** 

City of Clearwater Parks & Rec 706 N Missouri Ave. Clearwater, Florida 33755 Contact

Craig Wilson Parks Senior Division Manager

Phone: (727) 444-8584

**Approximate Ship Date** 

Ship Via

Terms Net 30

			Net 30			
Vendor	Part #	Description	Qty	Unit Price	Extended Price	
BSCP	B4451	5' Classic Park Bench using recycled plastic lumber with two concrete legs Ships Unassembled Stainless Steel Hardware Included RPL5 Dark Teak Recycled Plastic Lumber back and seat *MSRP Price: \$670.00	100	\$670.00	\$67,000.00	
BSCP	Discount	5% Discount per Clay County Piggyback #23/24-074 Various Equipment and Amenities for Parks & Recreation	100	-\$33.50	-\$3,350.00	
BSCP	SB4	Sandblast with Brown Pigment Legs	100	\$70.00	\$7,000.00	
BSCP	ACR2	*Manufacturer suggest two coats of your choice; Semi-Gloss or Non-Gloss Sealer Applied to concrete portion Benches	100	\$70.00	\$7,000.00	
BSCP	ADA Bench (Custom Form)	Custom Form Modification to accept fourth board. *To be added to (5) benches to make ADA	5	\$145.00	\$725.00	
BSCP	LR1065	Litter Receptacle - 26"Diameter 41 3/4" height with plastic dome Includes 32 gallon plastic liner LC Dome Color: Brown *MSRP Price: \$570.00	135	\$570.00	\$76,950.00	
BSCP	Discount	5% Discount per Clay County Piggyback #24/25-074 Various Equipment and Amenities for Parks and Recreation	135	-\$28.50	-\$3,847.50	
BSCP	SBR	Sandblast with Brown Pigment	135	\$90.00	\$12,150.00	
BSCP	ACR2	Manufacturer suggest two coats of your choice of sealer; semi-gloss or non -gloss - Trash Receptacles	135	\$70.00	\$9,450.00	
BSCP	T6461	72" Picnic Table using two concrete legs with recycled plastic table top and seats CUSTOM - 3/8 - 16x2-1/2" FLATHEAD BOLTS Wt. 596lbs *MSRP Price: \$1125.00	15	\$1,125.00	\$16,875.00	
BSCP	Discount	5% Discount per Clay County Piggyback #24/25-074 Various Equipment and Amenities for Parks and Recreation - Picnic Tables	15	-\$56.25	-\$843.75	

Vendor	Part #	Description	Qty	Unit Price	Extended Price
BSCP	SB4	Sandblast with Brown Pigment - Picnic Tables	15	\$90.00	\$1,350.00
BSCP	ACR2	Two Coats of Non-Gloss Sealer	15	\$90.00	\$1,350.00
BSCP	T6465	Handicapt Accessible Picnic Table Using Two Concrete Legs with 4" Table Top and 72" Seats - 724lbs RPL5 Dark Teak Recycled Plastic Custom 3/8 - 16 x 2.5" Flathead Bolts *MSRP Price: \$1280	35	\$1,280.00	\$44,800.00
BSCP	Discount	5% Discount per Clay County Piggyback #24/25-074 Various Equipment and Amenities for Parks and Recreation	35	-\$64.00	-\$2,240.00
BSCP	SB4	Sandblast with Brown Pigment - ADA Picnic Table	35	\$90.00	\$3,150.00
BSCP	ACR2	Two Coats of Non-Gloss Sealer Applied	35	\$90.00	\$3,150.00
BSCP	Freight	Doty & Sons Freight	1	\$25,078.00	\$25,078.00
ULT	P360SM-P	42" High Food Court Table, Square, Perforated - Surface Mount *MSRP Price: \$1060.00	8	\$1,060.00	\$8,480.00
ULT	Discount - High Table	5% Discount per Clay County Bid No. 23/24-074, Various Equipment and Amenities for Parks and Recreation	8	-\$53.00	-\$424.00
ULT	P360P-RDP	42" High Food Court Table, Round, Perforated - Portable *MSRP Price: \$852.00	10	\$852.00	\$8,520.00
ULT	Discount - Round High Top Table	5% Discount per Clay County Bid No. 23/24-074, Various Equipment and Amenities for Parks and Recreation	10	-\$42.60	-\$426.00
ULT	P358H-P	Square Picnic Table, 3-sided, Perforated, Portable, PC Frame 358H Table with Standard 46" top *MSRP Price: \$1,587.00	34	\$1,587.00	\$53,958.00
ULT	Discount - 3- Seat Table	5% Discount Per Clay County Bid No. 23/24-074, Various Equipment and Amenities for Parks and Recreation	34	-\$79.35	-\$2,697.90
ULT	Freight	UltraSite Freight	1	\$3,400.00	\$3,400.00
Note:		DOTY CONCRETE: ALL SHIPPING CHARGES ARE LISTED ABOVE. SHIPPING IS SHIPPED BY MOTOR FREIGHT TRAILER ON PALLETS, TO ONE BUSINESS ADDRESS ONLY. CUSTOMER PERSONNEL TO MEET DRIVER (DURING REGULAR BUSINESS HOURS) AND PROMPTLY REMOVE PALLETS FROM TRUCK. A 4,000# PALLET JACK TO MOVE ITEMS TO TRAILER DOOR AS WELL AS A FORKTRUCK RATED @5,000# WITH 48" FORKS FOR UNLOADING MUST BE ON SITE AT TIME OF ARRIVAL. CUSTOMER TO UNPACK ITEMS AND SET AT SPECIFIC SITES. DELIVERY FEES ARE BASED ON FUEL PRICES TODAY. BECAUSE OF UNCERTAIN FUEL COSTS IN THE FUTURE, WE RESERVE THE RIGHT TO ADD OR SUBTRACT ANY CHANGE IN FUEL COSTS IN EFFECT ON THE DAY OF DELIVERY. ADDITIONAL FREIGHT COMPANY SERVICES, IF NEEDED, MUST BE			

Vendor	Part #	Description	Qty	Unit Price	Extended Price
		SPECIFIED ON PURCHASE ORDER AND CHARGES WILL BE ADDED ONTO FINAL BILLING.			

 Sub Total
 \$308,078.85

 Freight
 28,478.00

 Taxable Subtotal
 \$0.00
 Tax
 0.00

**Grand Total** \$336,556.85

- Due to volatility in raw material pricing, this quote is only valid for 30 days unless otherwise noted.
- Due to instability in material procurement and manufacturing, verbal or written lead times are subject to change.

Sales tax exempt certificate will be required for exemption. All orders are subject to approval and acceptance by the manufacturer. Deposits may be required. Add 3% to total for charge card transactions. Manufacturing lead times will not begin without an actual shipping address, color and mount selection, approved purchase order or fully executed contract. Customer will need to coordinate with freight carrier if unloading or inside delivery is required. Damaged or missing parts must be noted on the bill of lading at the time of delivery. A finance charge of 1.5% per month will be added to all invoices past due. Return items are subject to manufacturer's policies and may result in freight and restocking fees.

Signed quote will not be accepted for orders over \$500.

Complete Terms and Conditions can be found at <a href="https://blissproducts.com/terms-conditions/">https://blissproducts.com/terms-conditions/</a>

## CITY OF CLEARWATER, FLORIDA

Approved as to form:	Attest:	
Melissa Isabel Senior Assistant City Attorney	By: Rosemarie Call City Clerk	
Countersigned:		
Bruce Rector Mayor	Jennifer Poirrier City Manager	
Date	Date	